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Train set ( Past )

58] AlE 5.9%ks] AIE =3 ORSl AlE 162 d

» 7:1553

4703] AR

% LCK Spring: KTvs. KZ - GRF vs. HLE
LCK_Korea
League of Legends

% LCK Spring: SB vs. SKT - AF vs. GEN
LCK_Korea
League of Legends

M LCK Spring: DWG vs. SKT-GEN vs. ...
LCK_Korea
League of Legends

" LCK Spring: GRF vs. SKT - KT vs. GEN
LCK_Korea
League of Legends

Dev set (Relatively Recent)

6.60s] A8

4.90k3] AJR

" LCK Spring: KZ vs. GEN - HLE vs. SKT
LCK_Korea
League of Legends

LCK Spring: KT vs. AF - GRF vs. SB
LCK_Korea
League of Legends
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IO I'M Selenium THAIXI

In [16]: | while True:
html=webscrape. page_source
KE I BT 22 hlwl o TS

soup=Beaut i ful Soup(htnl, "html . parser')
FhoautifulSouy B2 E E6F SO BT A himd parsing SR

star=soup.select{ "#root > div = div. tw-flex. te—flex-column. tw—f lex-nowrap. tw—ful | -height = div > div.right-colun
n.tw-flex-shrink-0.tw-ful |-height . tw-relative = div = div = div ")
# oo selector & Sif EE IS FH2S

li=[]
for i in star:

i appendli. text stripl))
a=1i[0] . split("OIH ZHE2 SAH)

for n in a:
exanp|e. appendin)

exanple=|ist{set (exanple))

print(’ "
print{leniexanplel)

& for i ina’
# arintre splitl{ 'S5 WEIEZANCE WE/NWH FHEI SN s /7, i)

# far 1 inal

# total_review apsendire spt i} 'EEY WEISEHCE IS/ FHEZT SIS sHE F/ i)
#
time.slesp(0 5]
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{Doto &N 2 Main Task)
1| SUAF EF W= 6A10F
ot0I2IOIEQ! AIRHH : 12 % (2 502) (Positive)

ot0I2OIETE OFL! AIRMCH : 88% (2 SAIL 014)) (Negative)
=) Imbalanced Data Problem..

=T HI0IE{C| Positive Class 2!/XI 0!I T+ GHOkOHTI0Hl
F1_scoreE HIXIE2 Z1&HI

Binary Classification!
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ol el @=

Ao MR Logistic . SVM, Random - Forest X2

X|CH
F1 score = 20%.. (in Dev set)

OHZEO0Hl Dotalt imbalance RATI0I 442! EXITF O &1ELICH

<2 SX=0| & ME! U2 Classification SHEXH
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{Data &N AU Main Task)

11“2' SE0iAl Ct IgI.E. 6*'1}

[— X — 1 — B — ) [ .

ot0I2LOIE! AIXHCHOI XHE! : 22 % (Positive)

ot0I2OIETE OFL! AIRMCHEI XHES: 78% (2 SAILY 014)) (Negative)
-> 04%X6| Imbalanced Data Problem..

F1_scoreE HIXIE2 Z1&HI

Binary Classification!
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TokenizeZH .. 02T XHE! 1IS0ICH £LI HIS04, 201, 2E =2 Q16H
Token0l MICHZ BA0| Ctel= SKIE A

Word2vec 21t Embedding &l= EH011F 60% 1t X Ot&l= 2K 2
S C2|2 Tokenize GHEXH

OlAI: [ "RESA']) - [N, 'E', 'S, 'A']
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C{CNN for Text- Classification)
(by Yoon kim 2014)

wait -
for - e
= LI -_|. . -
video .| I — - - B
and S, : Y N\
L s .
. H Y o
do —- a e,
n't = S W
rent — [
it — _
| | | | | | |
n ® K represantabon of Convolutional layer with i Creer - S Fully connecied layer
sentenos with static and multiple fiker widths and paaling with dropout and

non=siatic channels feafure maps softray outpud
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{CNN for Text- Classification)

INPUT
[‘A*"|§"'§','é']

I

-




BIAE |tto| R

{CNN for Text- Classification)

- MAX_SEQ_LENGTH : 4
- EMBED _SIZE : 3
- Filter_sizes =[2, 3, 4] =» SHHHO| D242 CHY{ 20

- Out_Chs =10
- Kernel_size = 3 (=word2vec dim) _

# of _
channel
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{CNN for Text- Classification)

- MAX_SEQ_LENGTH : 4 Ex) filter_sizes = 2 (token= 7| A ot & TI3H)
- EMBED _SIZE : 3
- Filter_sizes = [2, 3, 4]

- Out_Chs =10
- Kernel_size = 3 (=word2vec dim)

# of _
channel
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{CNN for Text- Classification)

- MAX_SEQ_LENGTH : 4
- EMBED _SIZE : 3

- Filter_sizes = [2, 3, 4]

- Out_Chs =10

- Kernel_size = 3 (=word2vec dim)

# of _
channel
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{CNN for Text- Classification)

- MAX_SEQ_LENGTH : 4

- EMBED _SIZE : 3

- Filter_sizes = [2, 3, 4]

- Out_Chs =10

- Kernel_size = 3 (=word2vec dim)

Output vector 1

# of _
channel
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{CNN for Text- Classification)

- MAX_SEQ_LENGTH : 4
- EMBED _SIZE : 3

- Filter_sizes = [2, 3, 4]

- Out_Chs =10

- Kernel_size = 3 (=word2vec dim)

Output vector 1

Output vector 2

# of _
channel

Output vector 10
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{CNN for Text- Classification)

Concat

{Max Pooling? r \
° ° R
o o

O OO




Concat

Dropout

Sigmoid (Binary Classification)




58% (F1_Score)

CHE RELLH 1 ds01 SACE.



PRy

LangCon 2019






Ol X}-
=H o

AEG AMElA MISA

HOl It s

X
AN

Ol
—

| AECIHOAH =

Z0 o O



PRy

CHHIA

LangCon 2019



Lang
?_ng Con

2019

* M 2! NI AEZID0I H2oHLLI.. 0121 BFTF LISECE. OFR) 20| 2Lt

* AEE] MHIATEOT Hel22ILE0I T2k 2FEFARLE TH04TF 2201 CHS 24012t
latel > ol JE| 2HX SS

hh—

© AIHIZIRQ! TIME HETH O 8 O

i

= J2HFLIRX] QUSTE.?



PRy

LangCon 2019



